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اكتبوا اس i بالحسابه لحاله وافرضوا قيمه  لـ X خلوها 3  راح يطلع لكم الناتج 1197 اقسموه على 4  

بيطلع العدد كذا 299.25 معناتها i اضربها ب 3 بيطلع الناتج A 
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a BC



DO

نجيب مجال معكوس الداله 

الجواب هو C جميع الاعداد الحقيقه ما عدى 1
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D
inverse of F : (y,x)



B (2)^3 -1/(2-1)
8 - 1 / 1 
7/1 = 7 

ملاحظه جدا مهمه في مثل هذي المعادلات عوض في البدايه اذا عطاك ناتج 0 وقتها عوض محل الاكس ب 2.000000001



C supplement=180
180 = 20 + x 
180 - 20 = x 
160 = x 



D Complement = 90 
90 = 60 + x
90 - 60 = x
x = 30



C logx y = z -> x^z = y 
 y = 3^(x-1) -> log3 y = x-1
1 + log3 y = x 



5^x = a 
in 5^x = in a 
x in 5 = in a 
x = in a / in 5

B

افترض ان a = 3 واكتب المعادله بالحاسبه بيطلع لك  ذا الناتج 0.6826 جرب بالخيارات وشوف مين يعطيك نفس الناتج 



B sin^2 + cos^2 = 1



A

Type text here

f(x) = -a^x 
if 0 < a < 1 
then it's increasing

f(x) = -a^x
if a > 1
then it's decreasing

مود 7 اكتب المعادله زي ماهي بالسؤال  وعوض start  ب  -10 وعوض end ب 10  اما  step  اتركها زي ماهي  وشوف القيم اللي على اليمين كل ما نزلت تحت زادت معناتها انه الداله تتزايد 



B



C
Any function with ^2 is not one to one



A



B



B We know that 2 is not in soultion set 
to find a we should replace x by 2 
4*2 - 8 = 0 , then a>0 , 0 is a number which doesn't 
satisfy the equation. 



C

ax²+bx+1 = ax²-bx+1
bx=-bx
2b=0
b=0



B
if there's x^2 then 
this is not one to one.

we use the number that 
gives x^2=0 

remeber a shoul be POSITIVE
a > 0

a² -9=0 

a = +- 3

في السؤال قال a اكبر من صفر فنستبعد -3



C
(a^4)^3 + 2(a^4)^2 - 1

a^(4*3) + 2(a)^(4*2) - 1

a^12 + 2a^8 - 1



D

Lim+ = lim- 

lim x-> -3+ (x+3)/(x+3) 
lim x-> -3+ = 1 

lim x-> -3- (-x-3)/(x+3)
im x-> -3- -(x+3)/(x+3)
im x-> -3- = -1

lim+ =/ lim - 
SO it doesn't exist



C

السؤال ذا مكرر بس اقروا الكلام اللي فوق وتطمنوا 🌝🧡



C



A



B

(X+1)² +c = x.x +2x
x²+2x+1+c=x²+2x
نشيل الاجزاء المتشابهه 
1+c=
c=-1




B
1-sin^2 = cos^2
1- (4/5)^2 = cos^2 
9/25 = cos^2 
 √(9/25) = cos
cos = 3/5



C



C y = mx + b 
m is slope

-4y = -8x + 28 
y = -8/-4 x + 28/-4
y = 2x - 7



B
logx y = z -> x^z=y 
x^2 = 2x^2 - a^2 
a^2 = x^2 
          x = a 



C



B



D
Cot = cos / sin
1-sin^2 = cos^2 
1-(4/5)^2 = 9/25 
 √9/25 = 3/5
cot = (3/5)/(4/5) = 3/4



D
x = a+by / b-ay (multiply by (b-ax))
x(b-ay) = a+by , bx - xay = a+by (let y togather) 
bx - a = xay + by , bx-a = y(xa+bb) (devide by xa+b) 
y = bx-a / ax+b



D



A



A



C
2a ≤ 2x-2 ≤ -2a
2a+2 ≤ 2x ≤ -2a+2
(2a+2)/2 ≤ x ≤ (-2a+2)/2
2(a+1)/2 ≤ x ≤ 2(-a+1)/2
a+1 ≤ x ≤ 1-a 



A By calculator 
zw/z = w
(-14+2i)/(-3+4i)



C
6(2x-2)=2-2x 
12x-12=2-2x
12x + 2x = 12 +2
14x = 14 , x=1



A L right =\ L left



C



B



B
log2(x*(2x-1)) = 2 log2 (2-x)
log2 (2x^2 -x) = log 2 (2-x)^2 
2x^2 -x = 4 - 4x +x^2 , (x-y)^2 property 
x^2 -4x +4 = 2x^2 -x -> 2x^2 - x^2 -x +4x -4
x^2 +3x -4 = (x+4)(x-1) , x=-4 , x=1
there's NO MINUS number in log so the 
solution set is {1} 
 



B



B



Scanned with CamScanner

A
Conjugate:
x-a / x+a



Scanned with CamScanner

x^3 - y^3 = (x-y)(x^2+xy+y^2)

A
8y^3 = (2y)^3



Scanned with CamScanner

C

(x-y)^2 = x^2 -2xy -y^2



Scanned with CamScanner

A



Scanned with CamScanner

B



Scanned with CamScanner

C



Scanned with CamScanner

B



Scanned with CamScanner

B?



Scanned with CamScanner

D
X-1



Scanned with CamScanner

D
X = (3√y - 5)/2
2x = 3√y - 5
2x+5 = 3√y
(2x+5)^3 = y 



Scanned with CamScanner

C



Scanned with CamScanner

D: -2
(x,y)=(a,a)
a(a)+4a=-4
a^2 + 4a +4=0 
Mode: 5,3 
a= -2



Scanned with CamScanner

A
If x-> 1



Scanned with CamScanner

D: -7



Scanned with CamScanner

B
x^2+7x+12 = (x+3)(x+4)
(x+3)(x+4) / (x+3) 
x + 4 = -3 + 4 = 1



Scanned with CamScanner

C
-3/2 x + 4 = 7 
- 3/2 (2a) + 4 = 7 
- 3/2 (2a) = 3 
2a = -6/3 , 2a = -2 
a = -1



Scanned with CamScanner

A
ab (1/a - 1/b) 

تاماقملا ديحوت  
ab ( (b-a)/ab)
b - a (ab is deleted with ab) 



Scanned with CamScanner

C
ax^2 , if a>0 then open up 
if a < 0 then open down 



Scanned with CamScanner

C
3(-1)^4 + (-1) +1 / (-1+4) 
3/3 = 1



Scanned with CamScanner
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Scanned with CamScanner

X ex D yog.fr r

25 x 4 4kt x
t y

x 4 4xt x

I 4 3 x

x t3 4 0

عند التعويض بعدد سالب بيعطيك can't solve



Scanned with CamScanner

D



Scanned with CamScanner
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i



Scanned with CamScanner



Scanned with CamScanner

C



Scanned with CamScanner

c



Scanned with CamScanner

I



Scanned with CamScanner

Ennis f
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Scanned with CamScanner

login y
z



Scanned with CamScanner

C



Scanned with CamScanner

1Ya 7 Y t 7

7 9



Scanned with CamScanner

BO



Scanned with CamScanner



Scanned with CamScanner

D



Scanned with CamScanner
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Scanned with CamScanner



Scanned with CamScanner

1 41

Xt 9
314



Scanned with CamScanner

I



Scanned with CamScanner



Scanned with CamScanner

4+2log₃(1 – 2x)

عوض محل الاكس ب 0 بيعطيك 4 وعوض محل الاكس ب سالب 1 بيعطيك 6 وعوض محل الاكس بثلث بيعطيك 2 فالجواب هو C



Scanned with CamScanner







انتبهوا في B ما تكررت الواي لاكن تكررت الاكس واذا تكررت الاكس معناتها انه ذي مو داله وليست one to one 
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